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1 Fh —§F R IEBTA 150 200 50 150 550
2 J\Y¥E BAX J—RZZhHIIL 50 200 50 200 500
3 EN R )11 ZRTA 100 150 13 100 363
3 WE ) HTA 100 150 13 100 363
5 |i£% 35 ST TA 150 13 150 313
b BjE EBE TCOaE-Yav 200 100 300
7 A his miEm T A 50 100 100 250
/ EH EiR miEm T A 50 100 100 250
/ I B, YKK 50 200 250
10 |&FO #FHIE EEE IR 200 13 213
11 |k B17 EUHETA 100 50 150
11 |5BK B S[RTC 100 50 150
13 |impk fH— KFAR—Y 50 50 13 25 138
14 |k BE RKMTS 50 50 25h 125
15 |[AF™ EN YKK 50 25 2b 13 113
15 R BE HIEA 50 25 2b 13 113
17 Bk HX A AR—Y 13 100 113
18 &% B =FERBIT 100 100
18 |8 IEA Z—1 25 50 25 100
18 |JITH &kl HBlELS5TC 100 100
18 |#EH & RE)IEET A 25 25 50 100
22 | B2 IEE TCOa®E-Y3y 13 13 13 50 89
23 |/hdp EfT T4 7 25 50 13 88
23 |BER EBEA EHETA 25 13 50 88
23 [EM EA T4 T 25 50 13 88
26 [FiE EX EESHOTT 6 25 50 81
27 | =& BB R 75 /b
27 W)l HX BB R 75 /b
27 [dext 1B SRETTA 25 50 /b
30 [&H# #BF = LEEREXSRE 50 13 63
30 |EER =HA TCOaE-v3y 13 25 25 63
30 [BX E# KHIKTS 13 25 25 63
33 Bk I BEMTA 50 50
33 [AE &= SLmT A 25 25 50
33 [#{R & ERKRE 50 50
33 [/\E& RKRE 2 ILEBRXME 50 50
33 [RlL & = ILEBRXME 50 50
33 | #LA 2 XA 50 50
39 | K@ Fz BT A 6 25 13 44
39 |#HE FiE SEHmTA 6 25 13 44
41 |E+=&E K#& T4 7 13 13 13 39
42 |XH E8E SHETA 13 25 38
42 |18F EN ST A 13 25h 38
42 | b= BIE SFEmT A 25 13 38
42 |#EE KN ST A 25 13 38
42 |BH # AR—YAA b 25 13 38
42 |#H  f#E EWLUHTA 25 13 38
48 |BiE FE EESHOTT 6 13 13 32
48 |4l TEIIERT A 6 13 13 32
48 |8 & YKK 13 13 b 32
b1 |EH K TCoa®-vay 6 25 31
51 [IhA BE TUTAT 6 25 31
51 [JbBF Zdd SHTA 6 25 31
51 |#E FHA T4 T 25 6 31
b5 |FEE RS — T4 T 13 13 20
bb |HHE & AR—YAA K 13 13 26
57 |XKH EA T4 T 25 25
57 |A&ZE &t YKK 25 2h
b7 iBEk ZEH EUHTA 25 2h
57 |& AT ST TA 25 2h
57 |IUF s SHETA 25 2h
57 |EXR  Ihit = L&A 25 25
57 |& & = L&A 25 25
57 [BF XiE hm A 25 25
57 |EEA —#&t AR KE 25 2b
57 |¥H B ATS 25 25h
57 [+ BEE GIEFTC 25 25
b7 WA & EImTA 6 13 6 2h
69 (IR £=E A VTYY 6 13 19
69 |8F B SmT A 6 13 19
69 |FH Rk ST TA 6 13 19
72 |RE HEXER |=WLH&ET 13 13
72 [IE o8 EERTC 13 13
72 |1BI e = ERTC 13 13
72 L@ %5h TOTAT 13 13
712 |FE B = = iR 13 13
12 |&% =8 = SR 13 13
/2 |t JEEER1T 13 13
72 [BER 1= BER = 13 13
12 |FF EA B TA 13 13
72 |ER & B TA 13 13
72 |EBk  tth NYTL99) -1 13 13
72 |dbkt = T AT 13 13
72 |7H B AR—YAA K 13 13
72 | R#  f0IA SEHT A 13 13
72 |B& = EUHTA 13 13
/2 |HFT A SEmTA 13 13
12 |&£F% —5 EUE—EK 13 13




72 M@ X NG E 13 13
72 kB I&E NI ES 13 13
72 AN EIK INEESE 13 13
72 |4H BE N 13 13
12 |E KRB J\ETC 13 13
94 |Fkdh  EEARA FEHT A 6 6 12
94 |#HA #h— EUmTA 6 6 12
94 (M #UA EmTA 6 6 12
94 [/NE HRE ATV 6 6 12
94 [EtFA E# SImTA 6 6 12
94 |BHE Mz ST A 6 6 12
94 |FEN [ED J\ETC 6 6 12
101 [RR B B3R T A 6 6
101 [ EX EMmTA 6 6
101 PRIk ¥4 T4 T 6 6
101 [#43H & ST A 6 6
101 |5H 28988 T7—X 6 6
101 |E& 5 SIHTA 6 6
101 |JRIE BAE SmTA 6 6
101 [BElR K3 SmTA 6 6
101 |54 = BT A 6 6
101 [KH & SIUHT A 6 6
101 |#f FB SMRTC 6 6
101 |Jr[#E &R SREHT A 6 6
101 |75 BX SEHT A 6 6
101 |F18 &= EmTA 6 6
101 |#@y &Hs AT 6 6
101 |&E# —BB 2 TC 6 6
101 [#54<K fEBR  [EWmTA 6 6
101 [(EAE x4 EWLUHTA 6 6
101 |38 TR SHEHT A 6 6




